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DIOICHA S2ES =3 STHAE 15(ZA)(28)
DIOICHA S2EIY =2 SXAIE 15(ZADATL,
DIOICHA S2 RS =2 SXAE 15(XA)Ae,
OIOICHA EREHE =& SXNE 1S5(F4A)CH, 52937, 63312, AP813,
DIOICHA S2EHS ZH SXAE 15 (ZA)C2, oo 63353, 28651, 28652,
DIOICHA S2 RS = SXAE 15 (XZA)CS, =8 28653, 28654, AV101,
DIOICHA S2 RS =H SXAE 15 (2404, AP814
DIOICHA S2EHS = SXAE {5 (XZA1)CS,
DIOICHA S2 RS =3 SXAE {5 (XZ4A!)Ce,
DIOICHA S2 RS =H STAE 15(FAS
mco =2 =NE =0l 224 EEYE 2005.12.07
=jjgo2 "L o
229|2 ~ =272}
2|2t 2016.06.07 2016.09.06 =724 ==29(210] 9l
T2 25| Al DOICHA AR A 2 & EHC A S 23l Al KEB3I LIS
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A SKEH DHMOEE DSEA 20128 (jRe# (JA=
o A ESEA HRA=ZES2S SR 0IHOIAHS, 020 A A S -
S04l At MR Sos AN Ee AaEH AaageT | SDMFEEISIM SHLHE © AjHI A
ABtes I 25 B 221032/ 0L L2 S E X510 E X
= BRENEA BHENS SIS

2 MBS ADIEY A9 2T S0 o

Z oK Al 24 S0l5(0| =2 S22 Y0 =2 NG E TASH HEZ AN, TA
80% OlAH, X0l 20% 016l2 EX6tD YUSLICH SS=IIXN4LZ HAOIT2 610 HIX0FACHH = VA VE 222
Aol = St UASUICH TAKAS EXNZ2HO 80% LIQl= SREHHSZE HRUGHH, LIHAI= SAS DU Z=Al0
d=9 4 EXED USLICEH 012 Sdl TAAZR AL Al =2 00| Jsst S2&ZAI0 0|H D B4 Hd2 4 AUD
Stet oA 20| =2 HHEZ=2 0|2 &M 2 2 UASLICH XA 80% 01 AH0| =AM EXE= S& & Rt
B8, 22l S 0 HAZHBE 2 EXE I8 DRS00 £ASN &2 0IXls SEAS IHXD YSLICH
> THAHS & (E+Q| : BHOLRl BHORE} %)
HC o 2= M| S|y z2=
Kh&H Z 0K (A) 66,296 57,085 -13.89
2 S (B) 2,581 1,044 -59.56
S5 (ZA)(2E) &= XHAHE M (C=A-B) 63,715 56,042 -12.04
2EH o= £ 4 (D) 33,339 29,068 -12.81
JIZ=Jt2 =) (E=C/Dx1000) 1,911.11 1,927.97 0.88
Z2(Class)d =t 85
S22 S (T A)AT J| =0t 964.23 968.88 0.48
S22 5 (=401 J| =D 961.33 964.53 0.33
S22 S(FTA)C2 J| =0+ 961.93 965.44 0.36
S22 Y15 (F4)C3 J|Z= D 962.55 966.36 0.40
S22 E1S(FA!)Cs J|=JHA 963.16 967.27 0.43
S22 WMY15(F4)C5 J| =0 963.75 968.16 0.46
S22 5 (=4S J| =+ 966.94 972.94 0.62
SE2FWLY1S(T4)Ae J| =0+ 966.42 972.17 0.59
S22WMY15(F4)Ce J|Z= D= 966.18 971.81 0.58
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X 27|, HE= Class AJIE, 0.48%02] #=2=2 J|25t0 HXI0t3 CHH| 3.58% Y2 ADE J|=25IAUSLICH HE | HAUHIE0| =2
HIIEX, 24FH SS9 2= AWt SL6HA XS, MHIA, 318, KOSDAQ S92 ¢E AW AIZUHl MESHH MM EC2 BIX 03 Y
92 $£AES JIZSASLICH
» EXEE L 28 HE
AL o iz 28, #2A2% B8, SA 9Z0| HIES & 6I3H B 518, SAI2 24587 AQ0/2 40| H|E2
ZAOIASULICH 2Sst AR HHY 0] U 28, 28 UES T2 HISS SUHIALH, HIY 0| Y= BA2S, S4l S
LHOIA] AR JHA0| REE Tl= ZE2 ZSAO2 HIES EUHGIJSLILH 9E =02 MI|EL, MHIA, 2LFH|, 318 HE =02 =2 HIES
S50 YUCH, BMUHIZE MHIA, 318 AE0| HIESEM S0 ASLICH AZUHAMNE 248D, 28, MI|E}, B8, 25 A& 59
FISE0| USHC 20, HMIEX, 28 AZ0 (HHAM HES &0 5IYUE 22 2 FOIJASLICH SHXILH EE AE L MABEAL RS
HE0 oM HIS SAE 5IUE B2 SRHMOIUSLILH 8822, SA2 HUE HUHN HESHUE SIYE SS9 £2AS0| RAGIIE H
AN $ASH PEEOR H250{ KOSPICHH| 3t3|6tS S LICEH
> II2H(+H)L2AE (EF1 : %)
e 2 3He z2601g Z2 Mg 22 12008
E2XH I S(FA)(2E) 0.88 2.80 -1.94 0.44
(I XI2= Tyl A D) (-3.18) (-2.87) (-6.60) (-9.13)
Z2(Class)g &&
SRS S(FAAT 0.48 1.98 -3.11 -1.16
(Bl Xl== Chel 8 14) (-3.58) (-3.69) (-7.78) (-10.73)
E2XHIE S(F4!)CT 0.33 1.68 -3.55 -1.75
(Bl XI2= Chyl A o) (-3.73) (-3.99) (-8.21) (-11.32)
E2XHIE1 S(F4)C2 0.36 1.75 -3.46 -1.63
(/M XI2= Tyl A D) (-3.70) (-3.93) (-8.12) (-11.20)
E2XHIE1 S(=4)C3 0.40 1.81 -3.36 -1.51
(I XI2= Tyl A D) (-3.67) (-3.86) (-8.03) (-11.08)
SR S(F=4)C4 0.43 1.87 -3.27 -1.38
(Bl XI2= Tyl A o) (-3.64) (-3.80) (-7.94) (-10.95)
SRS (F=4)C5 0.46 1.93 -3.18 -1.26
(HIXI2= CHyl & D) (-3.61) (-3.74) (-7.85) (-10.83)
SIS (=4S 0.62 2.27 -2.71 -0.61
(Bl XI2= Tyl A o) (-3.44) (-3.40) (-7.37) (-10.18)
S22 S(=4)Ae 0.59 2.21 -2.78 -0.72
(I XI2= Tyl A D) (-3.47) (-3.46) (-7.45) (-10.29)
SRS (F4)Ce 0.58 2.19 -2.82 -0.76
(I XI2= Tyl A D) (-3.48) (-3.48) (-7.49) (-10.33)
CDSC &2 g8 CE S& +2U&
S22 S(FA)C_EF 0.44 1.91 -3.23 -1.31
(Bl XI2= Tyl A D) (-3.62) (-3.76) (-7.89) (-10.88)
Bl X 4= (#I X 0F3) 4.06 5.67 4.67 9.57
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T 214 z2 2¢ z2 34 z 2 54
E2FHEIS(FA)2E) 0.44 1.26 16.79 25.74
(X Chyl &) (-9.13) (0.42) (11.10) (8.77)
E2(Class)g &
ES2EMEIS(FA)AL -1.16 -1.95 11.32 16.07
(Bl Xl== Chel 8 1) (=10.73) (=2.79) (5.63) (=0.90)
E2FHE1S(FA)CH -1.75 -3.12 9.34 12.65
(Bl Xl== ChEl 8 1t) (-11.32) (-3.96) (3.65) (-4.32)
E2FWML 1S (FA)C2 -1.63 -2.89 9.74 13.35
(Bl XI== Chyl A o) (-11.20) (-3.72) (4.05) (-3.62)
EZHUWE1S(FA)C3 -1.51 -2.65 10.15 14.06
(X< Chyl &) (=11.08) (-3.48) (4.46) (-2.91)
ESZEWEIS(FA)C4 -1.38 -2.40 10.56 14.77
(Bl XI== CHyl &) (-10.95) (-3.24) (4.87) (=2.20)
ES2EMEIS(FA)CH -1.26 -2.16 10.97 15.48
(Bl Xl== ChEl 8 1) (-10.83) (=3.00) (5.28) (=1.49)
E2EWE1S(FA)S -0.61 -0.76 - -
(Bl X< Oyl A1) (-10.18) (-1.60) - -
E2FHE1S(FA)Ae -0.72 -1.05 - -
(Bl XI== CHyl A o) (-10.29) (-1.88) - -
ERAE1E(F4)Ce -0.76 -1.14 - -
(I XI== CHyl &) (-10.33) (-1.98) - -
CDSC H#=HE & 2=
ERFWEIS(FA)C_SE -1.31 -2.23 10.89 15.34
(B X< Chyl &) (-10.88) (=3.07) (5.20) (-1.63)
Bl X == (#IXI0t3) 9.57 0.84 5.69 16.97
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& 7| 1,282 0 0 4 -65 1,220
g J| 443 0 5 -1 447
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KRW 54,900 0 0 0 0 0 0 0 0 1,125 | 1,060 57,085
(0.00) (96.17) (0.00) (0.00) (0.00)[ (0.00)] (0.00)| (0.00)f (0.00)] (0.00) (1.97) (1.86) (100.00)
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=Y <4 - HIEHIS(A) OHOH - SM4=2=2 BI=(B) &I (A+B)
_ _ & 0.0351 4.7255 4.7606
S S(FA)(EE)
=l 0.0089 1.2338 1.2427
Z=2(Class)g &=
_ _ &) 1.6234 0.3532 1.9766
EZ2EUME1S(FA)AT
=) 1.6186 0.3666 1.9852
_ _ &) 2.2289 0.3721 2.601
EZEWE 1S (F=A)CH
=l 2.2251 0.3784 2.6035
- _ &0 2.1044 0.3655 2.4699
SREBHR1S(FA)C2
=l 2.0959 0.3804 2.4763
_ _ &) 1.9732 0.3659 2.3391
S22 1S(FA)C3
=) 1.9664 0.403 2.3694
_ _ & 1.8474 0.3596 2.207
EFEHHE 1S (ZF4)CS
=l 1.8443 0.3781 2.2224
_ _ &) 1.7235 0.3494 2.0729
SZHY15(F4)C5
=) 1.7195 0.369 2.0885
- _ &0 1.0624 0.3428 1.4052
EREHE1S(FA)S
=l 1.0583 0.3601 1.4184
_ _ &) 1.1694 0.3636 1.533
SRS (FA)Ae
=) 1.1647 0.3683 1.533
- _ &) 1.2192 0.402 1.6212
S S(FA)Ce
=9l 1.2161 0.4014 1.6175
F1) E24-dI2H|I2(Total Expense Ratio)0lgt 224 S HENAM SEols ‘222 JIEHHIE SHE =LA HHAH (B4 HES
H2E IE)CZ2 U HIEZ2AM iy 22JI12t & EXADL 26 & E4-HE4FS UEHHLICH
Z2) OHOH- =42 HIS0|2t HOH- B2 E =AM JHAUM(ELHE 28 JIF)O=2 Lz HIS2AH " 22212t & EXAL
SCS O -SME==2 2 === LIEFYLICH.

6. & XHAHAHOHOHLH S

» OHOHFA 72 L JEE (SHD| : B4OrRe %)
I[TES s OHOH 3| & 8 =)
BN 2 o L2 =om el 2t o1 51 A}
414,217 20,265 499,325 28,157 48.77 193.48
F) Y 2RI S HSE TAIIMO ZHS 1) Y R E 25 TAO BRIIMOR LiE HIS

» X2 37| OHOHEI & =0 (S : %)
158128072 ~1603806L 161038072 ~16H 06062 1621068072 ~16098 06
69.90 44.11 48.77
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'HSBC2d,IBKEXS2 KEBotLI 2 NHsE2H NHEUSH SKESH, n2WE2E 2S5 =0 2d 724 e sd, S82S52 . 0=
SeSES J,DIEH(HI“'EHc> OlchoiAl g, 0lod s Fa2d 88 UBEE ddSd e sE8F A2, IIs85d, 82220220
AHIZZSETHAINIETIZA SIZETIZA SISIETIZA SM=A'S Eal ETHTHMHH HIZ2E ) IrE roF 202 I ErSE T & O]
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